
                              
 

                ELECTRIC PARTS (TL4000) 
 

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile 

 

 

 

 

 

 

 

 

 

 



                              
 

                ELECTRIC PARTS (TL4000) 
 

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile 

 

 

Item Parte Ref. No. Descripción Unit Precio（CLP) 

1 50400-56000-000 Key Switch/Lock Set Set  $     42.000  

2 32841-56001-000 Key Switch Decoration Cover (Plastic) Pcs  $     10.000  

3 10428-56000-000 Screw GB/T70.2（M5*10） Pcs  $      3.500  

4 50030-54001-000 DC Converter Pcs  $     20.000  

5 10439-56000-000 Screw GB/T70.2（M6*12） Pcs  $      3.500  

6 24000-56A00-000 Controller Pcs  $    560.000  

24000-56A01-000 Controller（45Km/h)    $        -    

24000-56A02-000 Controller（45km/h-US) Pcs  $        -    

24000-56A03-000 Controller（32km/h-CANADA) Pcs  $        -    

7 10571-56000-000 Screw DIN912( with washer M6*16) Pcs  $      3.500  

8 10438-56000-000 Bolt GB/T70.2（M6*10) Pcs  $      3.500  

9 50070-56001-000 Horn Pcs  $     13.500  

10 43191-56000-000 Horn Holder Pcs  $      3.500  

11 10093-56000-000 Nut DIN6923-1983(M5) Pcs  $      3.500  

12 10428-56000-000 Screw GB/T70.2（M5*10） Pcs  $      3.500  

13 51010-56A00-000 Headlight  （with waterproof-plug) Pcs  $     63.000  

14 10561-56000-000 Headlight Fixing Flat Washer Pcs  $      3.500  

15 Headlight Fixing Spring Washer Pcs  $      3.500  

16 Screw GB/T70.2(M5*12) Pcs  $      3.500  

17 43021-56000-000 Headlight Holder Pcs  $      6.000  

18 10440-56000-000 Screw GB/T70.2（M6*14) Pcs  $      3.500  

 

 


